

Ogenji Emmanuel Ori
MAT 104

$$\begin{aligned} 1.) \quad & yz + 3 - t^2/2 - 2t + 4 \\ & yz + 3t^2 - 2t - 1 - 2 \\ & = 3t^2 - t - 2 \\ & = 3t^2 + 3t - 4t + 1 \\ & = 3(3t - 3t(t+1)) - 2(t+1) \\ & = (3t-2)(t+1) \\ & = 3t-2=0 \quad \text{or } t=-1 \\ & \therefore t = \frac{2}{3} \quad \text{or } t=-1 \end{aligned}$$

$$\begin{aligned} 2.) \quad & 2y^2 - 5x^4 - 2 - 7y^3 \\ & \frac{d}{dx}(2y^2) - \frac{d}{dx}(5x^4) - \frac{d}{dx}(2) - \frac{d}{dx}(7y^3) \\ & = dx(0) \\ & \quad x \end{aligned}$$

$$\text{i.e. } 4y \frac{dy}{dx} - 20x^3 - 0 - 21y^2 \frac{dy}{dx} = 0$$

rearranging gives

$$(4y - 21y^2) \frac{dy}{dx} = 20x^3$$

$$\frac{dy}{dx} = \frac{20x^3}{4y - 21y^2}$$

$$3.) \quad 4x^2 + 2xy^3 - 5y^2 = 0$$

$$\frac{d}{dx}(4x^2) + \frac{d}{dx}(2xy^3) + \frac{d}{dx}(5y^2) = \frac{d}{dx}(0)$$

$$8x + \frac{dy}{dx}(6xy^2) = \frac{dy}{dx}(10y) = 0$$

$$(6xy^2 - 10y) \frac{dy}{dx} = 8x$$

$$\frac{dy}{dx} = \frac{8x}{(6xy^2 - 10y)}$$

$$\frac{8x}{60y^2 - 10y} = \frac{8}{24 - 20} = \frac{8}{4} = 2$$

$x = 1 \cdot y = 2$

$$14 - 04 \quad -16 - 04$$